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THSFERDVEEEHRRRS

EERE XRMNEERRE—F

RRE2—DER ZHEDOEH
GilIESE VNS 5 FoE R 'O 2 OK & &t VNS 5 FoE R 'O 2 OR & &t
¥R OB BEEH R ¥ BEEH |2 R & BEEH|Z R ¥ EEEH B #| BEEH R | BEEH|ZE & ¥ BEEX B #| BEEH
) 1REE 19 187 10 52 2 8 31 247 49 1,680 31 665 14 235 94 2,580
Tl -REER
2REE - 38 - 14 - 8 - 60 - 63 - 23 - 22 - 108
1REE 3 3 1 9 0 0 4 12 14 178 6 234 0 0 20 412
[ ko]
2REE = 3 = 0 - 0 - 3 - 0 - 0 - 0 - 0
1REE 9 12 3 4 0 0 12 16 41 3,116 16 400 6 74 63 3,590
k- L EER
2REE = 3 = 1 - 0 - 4 - 5 - 3 - 5 - 13
1REE 10 38 2 13 1 6 13 57 20 774 8 231 0 0 28 1,005
FEEER
2REE = 14 - 3 - 5 - 22 - 0 - 0 - 0 - 0
1REE 7 13 3 16 1 2 11 31 19 570 10 96 3 13 32 679
Ri&
2REE = 4 = 6 - 2 - 12 - 5 - 8 - 6 - 19
1REE 12 48 7 44 0 0 19 92 37 886 12 74 5 195 54 1,155
REI
2REE - 16 - 11 - 0 - 27 - 5 - 1 - 2 - 8
1REE 1 2 0 0 0 0 1 2 11 136 1 3 0 0 12 139
FEEIF
2REE = 2 = 0 - 0 - 2 - 2 - 0 - 0 - 2
1REE 61 303 26 138 4 16 91 457 191 7,340 84 1,703 28 517 303 9,560
&t
A
2REE - 80 - 35 - 15 - 130 - 80 - 35 - 35 - 150
REFIREE (SRER) _ 4 _ 3 _ 9 _ 9 _ _ _ _ _ _ _ _
1= LIRS
RagE |1RBE 70 255 31 192 5 36 106 483 189 7,610 81 1,604 28 245 298 9,459
s KR 2REE - 133 - 73 - 27 - 233 - 397 - 173 - 73 - 643
% 1REE -9 48 -5 -54 -1 -20 -15 -26 2 -270 3 99 0 272 5 101
RAZEELL
2REE = -53 - -38 - -12 - -103 - -317 - -138 - -38 - -493




